[bookmark: _Hlk91597229]Multiply Powers Notes
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Solutions to Example 1:
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· Example 2
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Solutions to Example 2:
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· Example 3
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Solutions to Example 3:
	[image: Graphical user interface, text, application, email

Description automatically generated]
image6.png
1/2 o’ =d

‘This follows from the general rule 2™ 2™, Note that the powers have the same base.

‘We can also see this is correct by expanding the powers.

2/2 Inconclusion, a”
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Simplify.
Rewrite the expression in the form 10"
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1/2 10°-10 =10°- 10"
=101
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This follows from the general rule 2™ - 2" = ™" Note that the powers have the same base.

‘We can also see this is correct by expanding the powers.

10°-10=10-10-10-10-10- 10,
—_—
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2/2  Inconclusion, 10° - 10 = 10°.
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Solve for .

2% =122.127
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1/3  When powers have the same base, 2™ - " =

2/3
Let's expand the powers for 2° = 122127,

=12-12-12-12-12-12.12-12-12
= SRS CAE AR A

2times Ttimes

=z zzz T TTTT
Lrrrrrre’

3/3| z=12




image5.png
Simplify.
Rewrite the expression in the form a”.




